Survival probability

Survival probability

Survival probability

1.00 - Age > 65
== High
= Low

0.75

2

:g

el

o)

£ 050+

=

2 1

Z I

= 1 e e
A 1

0.25 - | | o+

p=0.0017 .

1 1

1 1

1 1
— 0

0.00- HR=1.84, 9:5 %CI(1.25, 2.71)

HR Bv:[.ow<Hjch ! ! !
High-120 19 4 1 0
Low+133 33 10 3 1

0 25 5 75 10

Time

1.00 - NO
== High
st Low

0.75 -

0504 ===

: B R ] _]
X |
1
0.25 4 ! !
1
p<0.0001 |
1 1
1 1
1 1
— 0

0.00- HR: 2.64, 95 A)CI:(I.SZ, 3.82)

HR Bv:[.ow<Hjch ! ! !
High- 140 6 0 0 0
Low+ 184 22 4 2 0

0 5 10 15 20

Time
1.00 4 Stage [+11
== High
e Low
0.75
0504 ===
i
1
! e B
1
1
0.25 4 ! !
1
p <0.0001 N
1 1
1 1
1 1

HR=Z.33, 95%@1(1.69, 3.22)

0.00 - !

HR Bv:[.ow<Hjch ! ! !
High1172 10 1 0
Low+215 22 3 2 0

0 5 10 15 20

Time
1.00 - Chemotherapy YES
== High
== Low
0.75
0504 ====-=
1 1
1 1
1 1
1 1 | || | | ]
1 1 A N ' =
0.25 4 : : ll.l
p=0.17 | — = J
—h
1 1
— 0
0.00- HR=1.33, PS A)CI(O.89, 1.98)

HR Bv:[.ow<Hjch ! ! !
High1102 22 4 2 0
Low+ 73 29 4 2 0

0 2 4 6 8

Time

Survival probability

1.00 - Age =65
== High
= Low

0.75

2
:g
el
o)
£ 0504 =—=--p----==="=
= i e
.z | |
Z | | e R
r% 1 1 |
! o s -t
0.25 ! !
1
p < 0.0001 .
1 1
1 1
1 1
HR=1).37, 95%CI(0.2'4, 0.56)
0.00 1
HR Bv:Hich<I ow ! ! !
High-118 6 1 1 0
Low-119 13 3 2 0
0 5 10 15 20
Time
1.00 N1+N2+N3
=== High
b Low
0.75 -
)
:g
el
o)
& 050+
=
2 1
g 1
Z |
0.25 - L} N
p=0.097 |
11
1
1
- 0
0.004 HR: 1).(%9, 95%CI(0.44, 1.07)
HR Bv:Hich<I ow ! ! !
High+ 99 5 1 0
Low+ 66 3 0 0 0
0 5 10 15 20
Time
1.00 4 Stage II+IV
== High
= Low
0.75
)
:g
el
o)
& 050+
= 1
2 1
2 [ e =
= 1
« 1 1 _L _!_
0.25 : :
p= 0.15 1
1 1
1 1
1 1
- 0
0.00- HR: 0.6q, 95 A)I'CI(O.37, 1.17)
HR Bv:Hich<I ow ! ! !
High+ 66 8 2 0 0
Low+ 39 9 2 1 1
0 25 5 75 10
Time
1.00 A Chemotherapy NO
== High
= Low
0.75
0504 ===F¥=-=emnm-
1 | | | | |
. !
1
1
! 1] ] |
0.25 4 : e
p<0.0001 N
1 1
1 1
1 1
0.004 HR=2:87, 95%CI(1.9:4, 4.23)

' HR Bv:Low<Hjoh . . .
High4 141 9 1 1 0
Low+ 184 23 4 2 0

0 5 10 15 20
Time

Survival probability

Survival probability

Survival probability

Time

1.00 T1+T2
== High
e Low
0.75
2
:g
a)
o)
£ 050+
= i 1
.z I |
g I 1
) : : e el e —r
0.25 ! !
p < 0.0001 -
1 1
1 1
1 1
0.00- HR=2'rl 1, 95:%CI(1.56, 2.85)

' HR Bv:Low<Hjoh . . .
High+199 11 1 1 0
Low+235 24 3 2 0

0 5 10 15 20

Time
1.00 MO
=== High
st Low
0.75 -
0.50 4
1
1
1
1 B L
1 1 ! '
0.25 ! !
1 i
p < 0.0001 . -
1 1
1 1
1 1

HR=2:.12, 95%@1(1.5, 3)
0.00 1

HR Bv:[.ow<Hjoch ! ! !
High4173 9 1 1 0
Low+ 159 20 2 1 0

0 5 10 15 20

Time
1.00 - Female
== High
= Low
0.75
0.504 ===
:
1 o e
0.25 4 ! ! ‘ '
1
p < 0.0001
1 1
1 1
1 1
— 0
0.00- HR: q.46, 9$ %CI1(0.32, 0.67)

HR Bv:Hich<I ow ! ! !
High4115 6 0 0 0
Low+155 10 1 1 0

0 5 10 15 20

Time
1.00 - radiation_therapy YES
== High
e Low
0.75
0504 =m===-ebommmmmm—— o
1
1 1
1 1
1 1
1 1
0.25 ! :
p=0.0085 .
1 1
1 T
1 1
HR=0.41, 95%CI(0.21, 0.81) !
0.00 4 .

HR Bv:Hioh<I ow ! !
High- 34 7 1 1
Low+ 24 13 1 0

0 2 4 6

Survival probability

Survival probability

Time

1.00 - T3+T4
== High
=t= Low

0.75 4

2

.g

O

o !
£ 0.50-

I

2

2

=

n

0.25 -

1

0.004 HR=0.1|13, 95%CI1(0.19, 1.01)

' HR Bv:Hioh<I ow . . .
High 43 5 1 0 0
Low+q 20 4 1 1 1

0 25 5 75 10
Time

1.00 4 M1
== High
=t Low

0.75 4

2
O
o
2050 ===mmmmmmmmm e e e e oo
= 1
2 I
Z |
] 1
v 1
0.25 4 :
p= 0.2 1
1
1
1

0.004 HR=0.47, 95%CI(0.14, 1.5(})

' HR Bv:Hioh<I ow . . .
High4 14 9 1 0 0
Low+ 10 10 3 2 0

0 1 2 3 4
Time

1.00 4 Male
== High
=t= Low

0.75 4

0.50 -

ke -

0.25 -

0.004 HR=2'r13, 95%|CI(1.4, 3.26)

' HR Bv:Low<Hjoh . . .
High+128 6 1 1 0
Low+102 15 3 1 0

0 5 10 15 20
Time
1.00 A radiation_therapy NO
== High
=t= Low
0.75 4
0.50 -
1 I S L o
! ‘
1
1
1
0.25 4 L : B
p<0.0001 -
1 1
1 1
1 1
HR=2'r16, 95%CI(1.54, 3.03)
0.00 -
HR Bv:[.oaw<Hjch ! ! !
High4 170 10 1 1 0
Low+191 22 4 2 0
0 5 10 15 20




